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QUESTION NO: 1

A flow action calls a pre-processing data transform to initiate values. There are several flow actions available for the 
assignment. You want to make sure that the values are only initiated once for each flow action.

How do you implement a solution?

A. Add logic to the pre-processing data transform to test if values were already initiated.

B. Do nothing. The pre-processing data transform is only called once for each assignment.

C. Make sure that the flow action does not have the highest likelihood since it will always be invoked.

D. Configure the data transform as post-processing instead of pre-processing.

ANSWER: A 

QUESTION NO: 2

What is the difference between using the Call and Branch methods in an activity step to invoke other activities?

A. Call provides more robust debugging capability than Branch, while Branch provides better run-time performance.

B. Branch overrides the security restrictions of the called activity allowing you to easily test code; it will not run in production.

C. Branch creates a new thread to allow asynchronous processing, while Call runs in the thread from it was invoked.

D. Call returns to the originating activity, while Branch skips the remainder of the originating activity.

ANSWER: D 

QUESTION NO: 3

What are the two most common ways to expose your application to an external system? (Choose Two)

A. Create a connector linked to a data page.

B. Leverage the Pega API.

C. Configure a signed certificate.

D. Create a web service with the Service wizard.

ANSWER: B D 
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QUESTION NO: 4

There are five instances of a rule in the rules cache. The only differences between these are the circumstance settings and 
ruleset version. The operator's access group has access to all ruleset versions.

On 1 June 2020, which instance is chosen by rule resolution if .Country = Algeria?

A. SelfService:01-01-03 (Circumstance: None, Base Rule checked)

B. SelfService:01-01-01 (Circumstance: .Country=Algeria)

C. SelfService:01-01-02 (Circumstance: Start Date = 1 January 2020; End Date = 31 December 2020)

D. SelfService:01-01-01 (No Circumstance)

E. SelfService:01-01-05 (No Circumstance)

ANSWER: E 

QUESTION NO: 5 - (DRAG DROP)

In the Answer Area, drag each mobile application solution on the left to the correct scenario.
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ANSWER:

Explanation:

QUESTION NO: 6

University admission application cases automatically advance in the case life cycle if the applicant's standardized test scores 
are above a certain threshold. The threshold is determined each year based on the provided national average score.

Which two configurations, when applied together, support this requirement? (Choose Two)

A. Configure a process with a decision shape that continues if the TestThreshold Configuration setting is less than the 
applicant's test score.

B. Configure a TestThreshold Configuration setting with the national average for the test score threshold.

C. Configure a TestThreshold Configuration setting that calculates the national average for the test score threshold.
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D. Configure a process with a decision shape that continues if the TestThreshold Configuration setting is greater than the 
applicant's test score.

ANSWER: A B 

QUESTION NO: 7

Which three mobile device features can you leverage by using Pega Mobile Client? (Choose Three)

A. Barcode scanning

B. Text messages

C. Biometric identification

D. Push notifications

E. Phone calls

ANSWER: A C D 

QUESTION NO: 8

You are preparing to create a new major version of an application ruleset in which there are multiple minor and patch 
versions.

How do you create the new ruleset version?

A. Use the Ruleset Maintenance wizard to skim the relevant ruleset versions to copy the highest version of existing rules to 
the new ruleset version.

B. Use the Ruleset Maintenance wizard to merge the existing rules in the relevant ruleset versions to the new version.

C. Use the Application Structure landing page to lock and roll the existing ruleset versions to the new version.

D. Create a new application ruleset using the appropriate version number, then copy the highest version of existing rules into 
the new ruleset version.

ANSWER: A 

QUESTION NO: 9

Which two actions do you perform when using the Performance Analyzer (PAL) to ensure that you obtain accurate 
performance data? (Choose Two)

A. Run the process to completion first to perform needed rule assembly and avoid skewed results.

B. Capture PAL readings after significant changes to a process to identify any performance impact.
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C. Capture a PAL reading for a process with good performance to establish a benchmark for comparison.

D. Run PAL as an end user to account for any performance differences due to the portal itself.

ANSWER: A B 

QUESTION NO: 10 - (SIMULATION)

A hospital uses a Patient visit case type to track patient visits to the Emergency Room (ER). The case type can create Lab 
analysis and Diagnostic imaging child cases. While the child cases are active, the attending doctor or nurse must be able to 
update the patient visit case with notes and treatment recommendations.

In the Answer Area, select the configurations which allow a doctor or nurse to update the parent case while lab and imaging 
technologists perform assignments on their respective child cases.

ANSWER: checktheansweronbelow.

Explanation:

Answer as in image
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